Notations:

Educational ConsultantsIndia Ltd.

1.Options shown in green color and with ¥ icon are correct.

2.Options shown in red color and with * icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date;
Duration:

Total Marks:

Display Marks:

Share Answer Key With Delivery
Engine:

Actual Answer Key:
Calculator:

Magnifying Glass Required?:
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required?:

Protractor Required?:

Show Watermark on Console?:
Highlighter:

Auto Save on Console?:

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

AUDIOMETRIC TECHNICIAN
AUDIOMETRIC TECHNICIAN
2019-02-26 16:11:02

120

125

Yes

Yes

Yes
None
No
No
No
No
No
No
Yes
No
No

AUDIOMETRIC TECHMICTAN

1
3210113
0
120
No
No
0
125
Yes
0

0

Technical Professional Subject

Section Id : 3210115
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100

Section Marks:

100



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 3210119
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 321011251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The portion of the inner ear that is responsible for hearing is called

Options:
1 « cochlea

- % tympanic membrane

- u vestibular system

4 % stapedius

Question Number : 1 Question Id : 321011251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 2 Question Id : 321011252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The impaired air conduction with normal bone conduction is diagnosed as:
Options:

, % sensory hearing loss.



o o conductive hearing loss.
- % mixed hearing loss.

4, » neural hearing loss.

Question Number : 2 Question Id : 321011252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 321011253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rinne test is performed using:
Options:

, = pure tone audiometry.

o o tuning fork.

5 % tympanometry.

, = auditory brain stem response.

Question Number : 3 Question Id : 321011253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 321011254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pure tone Audiometry considers the average of which of the following frequencies for hearing threshold estimation
(PTA 1)?

Options:
.o« 1k2k3k

. » S00Hz 1k 2k

. % S00Hz 2k 4k

2k 3k 4k

4 ®

Question Number : 4 Question Id : 321011254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 321011255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frequencies considered for bone conduction thresholds in pure tone audiometer are in the range of:

Options:
1 « 250 Hz to 4000 Hz



> % 500 Hz to 8000 Hz
= % 250 Hz to 1000 Hz

4 % 500 Hz to 4000 Hz

Question Number : 5 Question Id : 321011255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| v 250 Hz & 4000 Hz
» % 500 Hz ¥ 8000 Hz
. = 250 Hz & 1000 Hz

, = 500 Hz & 4000 Hz

Question Number : 6 Question Id : 321011256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pure tone average of 41-55 is considerad as

Options:
1 % mild

o moderate

3 % mnormal

4 % severe

Question Number : 6 Question Id : 321011256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 321011257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cross (% ) symbol is used to depict hearing threshold of:

Options:
1 « left unmasked ear.

5 % right unmasked ear.

= % left masked ear.

48 right masked ear.

Question Number : 7 Question Id : 321011257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 321011258 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Swimmers ear’ is a condition referring to:
Options:

1 % inner ear infection.



- w perforation in tympanic membrane.

= « external otitis.

4 % damage to cochlea.

Question Number : 8 Question Id : 321011258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 321011259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The mass of malleus is:
Options:

| 2.5 mg

5 % 0.25 mg

o ® Smg

2

LA

4 o <2 g

Question Number : 9 Question Id : 321011259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 321011260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of speech sounds and sound patterns used to create words is called

Options:
, w morphology

> % Syntax

- % pragmatics

4 « Phonology

Question Number : 10 Question Id : 321011260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 321011261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Starkweather’s components of fluency of speech considers:
Options:

| « cffort, rate of speech and continuity.



> w pitch, loudness, quality.

- u loudness, rate of speech. pitch.

, = effort, rate of speech, quality.

Question Number : 11 Question Id : 321011261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 321011262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete loss of voice is diagnosed as

Options:
1 % hoarseness

-  aphonia
- % puberphonia

, = androphonia

Question Number : 12 Question Id : 321011262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 321011263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Vocal nodules on vocal folds are often seen:
Options:

1 « bilateral

- % unilateral

- % (quadrilateral

4 #® occupying complete larynx

Question Number : 13 Question Id : 321011263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 321011264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The errors of many phonemes that form patterns or clusters are described as:
Options:

, w fuency disorder.



> % voice disorders.
- » multiple personality disorder.

4 « Phonological disorders.

Question Number : 14 Question Id : 321011264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 321011265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The central control of respiration is:
Options:

, « medulla oblongata

- % cerebellum

- % pons

, w Olfactory nerve

Question Number : 15 Question Id : 321011265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 321011266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Larynx is considered as

Options:

, w mmemory box

> % ossicular box
= « Voice box

4 % membranous box

Question Number : 16 Question Id : 321011266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 321011267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The frontal and side walls of the larynx is formed by butterfly shaped cartilage called

Options:
, = epiglottis



o o thyroid
- w arytenoid

4 » hyoid

Question Number : 17 Question Id : 321011267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 321011268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the upper jaw is protruded and lower jaw is retracted, it is labelled as:

Options:
1 % Class 111 malocclusion.

- % Class 1 malocclusion.
= % Class ii and i malocclusion.

4 + Class 11 malocclusion.

Question Number : 18 Question Id : 321011268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 321011269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The degree to which people understand the sounds in words a speaker produces is called:
Options:
, % Sspeech stimulability

> % Speech imitability
-  Speech intelligibility

4 % speech control

Question Number : 19 Question Id : 321011269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 321011270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The difficulty in naming things, objects, places and people is known as
Options:

1« Anomia



> w Aphonia

- % Amnesia

4 % Agrammatism

Question Number : 20 Question Id : 321011270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 321011271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The branch which deals with the cause, nature, disease evolution, morphological and functional changes of body is
known as

Options:
, = morphology

- « pathology

5 % Symptomology

, = pathogenicity

Question Number : 21 Question Id : 321011271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 321011272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The process (es) in fundamental basis of pathology is/are:
Options:

, « Inflammation and repair

- % infection and repair

5 % retrogression

, = repair and progression

Question Number : 22 Question Id : 321011272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 321011273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Unlimited new growth of cells proliferation is known as
Options:

, % microglossia



> % crist oblast

-  Deoplasia

4 % hypotrophy

Question Number : 23 Question Id : 321011273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 321011274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The process involved in synthesis of protein in a cell is referred to as:

Options:
1 % catabolism

- % inflammation

- % Ccatastrophism

4 + anabolism

Question Number : 24 Question Id : 321011274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 321011275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The principle organelles of cytoplasm are:

Options:
, = Cell body

- « Mitochondria
%z % Dendrites

4 % Synapse

Question Number : 25 Question Id : 321011275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 321011276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 321011276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The undissolved material in a blood vessel carried by the blood stream from its point of origin to distant places causing
obstruction to lumen of vessels is called

Options:
1 % thrombosis

- % Synapses

3 « embolism

4 % arterial sclerosis

Question Number : 27 Question Id : 321011277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Caissons disease is caused due to:
Options:

, % nitrogen peroxide gas embolism.

> w carbon dioxide gas embolism.

- % Phospholipid embolism.

4 w hitrogen gas embolism.

Question Number : 27 Question Id : 321011277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Complete failure of development of an organ is called

Options:

| aplasia

- u hyperplasia

- % hypoplasia

4 = dysplasia

Question Number : 28 Question Id : 321011278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A clinical syndrome that denotes any form of dyspnoea of expiratory type occurring in paroxysms is known as

Options:



1 % renal inflammation
5 laryngitis
3 « asthma

4 % rtrheumatoid arthritis

Question Number : 29 Question Id : 321011279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 321011280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Melanosis coli has the pigmentation of mucosa in intestine.

Options:
1 % blackish red

- % reddish brown

- u reddish pink

4 « brownish black

Question Number : 30 Question Id : 321011280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 321011281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pathological changes due to toxic complication in kidney and liver specific to pregnant women is referred to as

Options:
, » Aclampsia

- o eclampsia

- % hepatitis

4 % neuronitis

Question Number : 31 Question Id : 321011281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The scientific study of human and animal behaviour is defined as



Options:

, w audiology

- u radiology

- % microbiology

4 « Psychology

Question Number : 32 Question Id : 321011282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 321011283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The branch of psychology that deals with the study of course of development and growth from human conception until
death is called:

Options:
% childhood psychology.

- o developmental psychology.

— geriatric psychology.

observational psychology.

Question Number : 33 Question Id : 321011283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The microscopic space between two neurons over which messages pass is called

Options:
, w cell body

- % dendrite

5  Synapse

, = neural impulse

Question Number : 34 Question Id : 321011284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Broca’s area is located in the
Options:
, % temporal lobe

- % occipital lobe

- u parietal lobe

4 « Trontal lobe

Question Number : 35 Question Id : 321011285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25

Piaget’s theory of cognitive development consists of how many stages?
Options:

1.¢ 4

I
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Question Number : 37 Question Id : 321011287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At which age is concrete operational stage achieved as per Piaget?

Options:

1 7-11 years

> % 7-11 months
5 % 0-2 years

4 % 0-2 months
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 38 Question Id : 321011288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the full form of ADHD., a psychological problem?
Options:

1 % Atftention Deficit herited Disorder



5 u Aftention Deficit Hypoactive Disorder

o o Attention Deficit Hyperactivity Disorder

4, = Attention Deficit Hyperactive Disease

Question Number : 38 Question Id : 321011288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 321011289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Consciousness consists of which of the following aspects at any given instant?
Options:

| « Sensation, perception. memories and feelings

- u Perception, memories and feelings

- % Sensation, perception. memories

, % Sensation, perception, memories, hearing

Question Number : 39 Question Id : 321011289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 321011290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Duration of sleep apnea ranges from:

Options:
1 % 2sto2min

> % 20sto 20 min
z « 20510 2 min

4 % 2 minto 20 min

Question Number : 40 Question Id : 321011290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 41 Question Id : 321011291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is hemorrhage from the middle ear known as?
Options:

1 % Rhinorrhea



> % Diarrhea
z « Otorrhea

4 % Steatorrhea

Question Number : 41 Question Id : 321011291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 42 Question Id : 321011292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following cranial nerve damage leads to hearing loss and imbalance of the human body?
Options:

| Vagus nerve

5 % Oculomotor nerve
= « Vestibulocochlear nerve

4 % Hypoglossal nerve

Question Number : 42 Question Id : 321011292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 43 Question Id : 321011293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a genetic disorder?

Options:

, + Maxillary sinusitis

> % Sickle cell Anemia

- u Cleftlip

4 % Cleft palate

Question Number : 43 Question Id : 321011293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 44 Question Id : 321011294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Deviated Nasal Septum (DNS) is seen in which of the following conditions?

Options:
1 % Arthritis



> % Uveitis

- » Conjunctivitis

4 « Sinusitis

Question Number : 44 Question Id : 321011294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 45 Question Id : 321011295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Nasopharyngeal carcinoma is caused due to which of the following viruses?

Options:
, = Cytomegalovirus

> % Avian influenza virus
= % hlnl virus

4 Epstein Barr virus

Question Number : 45 Question Id : 321011295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 46 Question Id : 321011296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following disorders is NOT associated with speech and language pathology?

Options:
1 % Cerebrovascular accident

> u Cerebral palsy

5 u Cleft palate

4 « Tuberculosis

Question Number : 46 Question Id : 321011296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 47 Question Id : 321011297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following disorders is characterised by cardiac anomalies, clefi palate, thymic aplasia. abnormal facies and
increased risk of schizophrenia?

Options:

, % Downsyndrome



o o DiGeorge syndrome
= % Aids

4 % Bloom syndrome

Question Number : 47 Question Id : 321011297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 48 Question Id : 321011298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
deficiency causes Anaemia.

Options:
1 % Glucose

> o Iron
=z % Sodium

4 % Potassium

Question Number : 48 Question Id : 321011298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 49 Question Id : 321011299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a disorder characterised by difficulty in producing speech?

Options:
1 % Amnesia

- o Aphasia

5 % Agnosia

, = Phantogeusia

Question Number : 49 Question Id : 321011299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 321011300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A word of more than one syllable is termed as

Options:
, » Asyllable



> w Syllable
-  Polysyllable

, w morpheme

Question Number : 50 Question Id : 321011300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 51 Question Id : 321011301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sounds that are produced by stricture of complete closure in the vocal tract which blocks the air stream are termed
as

Options:
1 % fricatives

- % mnasals
- % affricates

4 Stops

Question Number : 51 Question Id : 321011301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 321011302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the bilabial-plosive from given options.

Options:
. mf hY
1 o DD

> % /p//m/

2 % /m//v/

4 % IV /of

Question Number : 52 Question Id : 321011302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 321011303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The basic unit of speech melody i1s known as
Options:

, « Intonation group



> w Pphonemic group
- u Syllable group

4 R pitch variations

Question Number : 53 Question Id : 321011303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 54 Question Id : 321011304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When words of different meanings are pronounced same, they are called
Options:

, = allophones

- « homophones

5 » Syllables

4 % clusters

Question Number : 54 Question Id : 321011304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 55 Question Id : 321011305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
/s/ sound is considered as

Options:
, = Plosive

> % nasal
z « Iriction

4 % lateral

Question Number : 55 Question Id : 321011305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 56 Question Id : 321011306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the voiced consonant from the given options.
Options:

1 ® /a/



Question Number : 56 Question Id : 321011306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 321011307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Pragmatics of language refers to:
Options:

, « social use of language.

> % meaning of word.

- » sentence structure of language.

4 # pattern of speech sound.

Question Number : 57 Question Id : 321011307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 58 Question Id : 321011308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dialect refers to variation in

Options:
, w grammar only

vocabulary only
meaning only

both, grammar and vocabulary

Question Number : 58 Question Id : 321011308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 59 Question Id : 321011309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cerebral palsy is characterised by brain injury in:
Options:

, % late childhood stage.

-  early childhood stage.



- u Aadolescence stage.

4 w geriatric stage.

Question Number : 59 Question Id : 321011309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 39een # aftgss & 9 F FRoT TET IedT & Hhar 27
Options:

, « Eefeg o =TT

E_quwm

= %Qm
4_%@'@@

Question Number : 60 Question Id : 321011310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Damage to pvramidal pathways of nervous system causes which type of cerebral palsy?

Options:
, w Flaccidity

- % Afaxic
5 o Spasticity

4 % Athetoid

Question Number : 60 Question Id : 321011310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 321011311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 321011311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Impaired social behaviour, unusual, stereotypical general behaviour and difficulty in communication are the signs of

Options:
, % Aaphasia

o o autism spectrum disorder

5 u cerebral palsy

, w intellectual disability

Question Number : 62 Question Id : 321011312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
PECS is considered as a:
Options:

, « low tech aided system.

> % low tech unaided system.



- u high tech aided system.

, % high tech unaided system.

Question Number : 62 Question Id : 321011312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 321011313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The method of teaching reading to children by pointing out letter sound correspondence is called
Options:
, w Thyming

> w Syllable

5 o phonics

4 w graphemics

Question Number : 63 Question Id : 321011313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 64 Question Id : 321011314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of TBI related to infection/injuries?

Options:
1 % Tremor Brain Invaszion
> % Traumatic Brain Infection

% % Tourette Brain Infection

4 « lraumatic Brain Injury

Question Number : 64 Question Id : 321011314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 65 Question Id : 321011315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The major subcortical structure involved in movement regulation is called

Options:
1 % cortex

- % medulla



- o Dasal ganglia

, % Spinal cord

Question Number : 65 Question Id : 321011315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 66 Question Id : 321011316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Omission of grammatical elements is a dominant character of

Options:
1 % dementia
-  aphasia

- u Aaphonia

4 u dysfluency

Question Number : 66 Question Id : 321011316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 321011317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Damage to cerebellum results in which type of dysarthria?

Options:
, % Spastic

> % Athetoid
% « Afaxia

4 % Flaccid

Question Number : 67 Question Id : 321011317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 68 Question Id : 321011318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wernicke’s aphasia is classified under:
Options:

, = non-fluent aphasia

5 o fluent aphasia



- u functional aphasia

4, » dysarthric aphasia

Question Number : 68 Question Id : 321011318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 69 Question Id : 321011319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dyvsphagia is a disorder of swallowing:
Options:

; « Tood and liquid.

- u food only.

- % liquid only.

4 % air, food and liquid.

Question Number : 69 Question Id : 321011319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 321011320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a disorder characterised by producing incoherent and jumbled speech?
Options:

, + Fluent aphasia

> % Anomic aphasia

- » Non-fluent aphasia

4 % Disruptive aphasia

Question Number : 70 Question Id : 321011320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 71 Question Id : 321011321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following areas in the brain is responsible for word formation?

Options:
1 % Wernicke’s area

- « Broca’s area



= % Areal9

4 % Areadd

Question Number : 71 Question Id : 321011321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 321011322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 72 Question Id : 321011322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wernicke’s area in the human brain is responsible for:
Options:

1 % word formation.

5 u Written language.



5  Word repetition and interpretation.

4 % Memory.

Question Number : 73 Question Id : 321011323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following part of the ear sends electric impulses to the auditory nerve during hearing process?

Options:
1 % Cochlea

> « Hair cells
5 % Tympanum

4 % Stapes

Question Number : 73 Question Id : 321011323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 321011324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X-rays were first discovered by:
Options:

1 % Ernest Rutherford

> w William Ramsay



2 Wilhelm Roentgen

4 % Louis Pasteur

Question Number : 74 Question Id : 321011324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T (X-Ray) @ @1 TFEe ganrm & air?
Options:

| % AT TIHE

o # mm

e ks o St .Y
3 o ideaH JINCdla

4 ® Fﬁ'%ﬂ?

Question Number : 75 Question Id : 321011325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The processing of X-ray films should be done in

Options:
, % sunlight

> « adarkroom

- % the open air

4 % humid condition

Question Number : 75 Question Id : 321011325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 76 Question Id : 321011326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an example of particulate radiation?

Options:

| o X-Tays

> % Alpharays

5 % Beta rays

4 % Neutrons

Question Number : 76 Question Id : 321011326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 77 Question Id : 321011327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the unit of absorbed dose in radiology.

Options:
1 % Sievert

o W Rad



= % Rem

4 Gray

Question Number : 77 Question Id : 321011327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 78 Question Id : 321011328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which radiation has the highest frequency among the following?

Options:
1 Gamma ravs

» w Detarays

- % Alpharays

4 % X rays

Question Number : 78 Question Id : 321011328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 79 Question Id : 321011329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of WISC test in psychology?
Options:

, « Wechsler Intelligence Scale for Children

> u Wechsler Intelligence Scale for Cognition

- u wechsler Intelligence Scale for Cerebral palsy

4 % Wechsler Input Scale for Children

Question Number : 79 Question Id : 321011329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 321011330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kaufman assessment battery for children is used for the age group between:

Options:
1 % 2% to 125 months.

5 o 25 to 1215 vears.



5w 12¥210 2202 years,

4 % 2% to 12 weeks.

Question Number : 80 Question Id : 321011330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 81 Question Id : 321011331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

CBT, a treatment technique used to treat wide range of psychiatric disorders refers to:
Options:

, = Cognitive Biological Therapy

> u Common Behavioural Therapy

- « Cognitive Behavioural Therapy

, = Cognitive Behavioural Treatment

Question Number : 81 Question Id : 321011331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 321011332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Persistent pattern of hyperactivity-impulsivity and inattention are the characteristics of

Options:
1.« ADHD

> u Intellectual disability

- u Cerebral palsy

, w Bipolar disorder

Question Number : 82 Question Id : 321011332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 321011333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pronounced fear of a wide range of public places is known as
Options:

, % Aagraphia

> % anomia



2 agoraphobia

4 % insomnia

Question Number : 83 Question Id : 321011333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 321011334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hallucinations (auditory, visual, olfactory, or tactile) and delusions are common and predominant symptoms of:

Options:
, % Dbipolar disorder.

o o Schizophrenia.
- » multiple personality disorder.

4 % mental retardation.

Question Number : 84 Question Id : 321011334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 321011335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Anorexia nervosa is a disorder of

Options:
, = sleeping

o o cating

- » Wwalking

4 % memory

Question Number : 85 Question Id : 321011335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 321011336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is a pragmatic disorder of communication.

Options:
, w Bipolar
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- u Cerebral palsy

4 % Schizophrenia

Question Number : 86 Question Id : 321011336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 321011337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A loss of dopamine leads to the symptoms of

Options:
1 % insomnia

-~ % ADHD
= « Parkinson’s disease

, % aphasia

Question Number : 87 Question Id : 321011337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 321011338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A preoccupation with fears of having the idea that one has a serious disease based on the person’s misinterpretation of
bodily symptoms are seen in

Options:
1 % sclerosis

- % schizophrenia
% % anomia

4 + hypochondriasis

Question Number : 88 Question Id : 321011338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 321011339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

refers to the first two weeks of a life.
Options:
, w Gestation period

- % Infancy period



-  Neonatal period

4, % Childhood period

Question Number : 89 Question Id : 321011339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 321011340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 321011340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A single unit of electromagnetic radiation is called

Options:
, % Dparticle

o  Photon



- % proton

4 % neutron

Question Number : 91 Question Id : 321011341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diagnostic test is done for detecting salivary gland disorders?

Options:
; & EEG

-~ ® EMG
-  Sialography

4 % ECG

Question Number : 91 Question Id : 321011341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 321011342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most effective diagnostic aid to detect otosclerosis?

Options:
;& MRI

> o CT scan

5 % Plain x-ray



4 % USG

Question Number : 92 Question Id : 321011342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 93 Question Id : 321011343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Various clinical trials and epidemiological studies indicate that radiographers are at increased risk of
Options:

1 « leukemia

> % anaemia

- % polycythemia

, % hemophilia

Question Number : 93 Question Id : 321011343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 321011344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radiation exposure of the radiographic personnel can be effectively measured and monitored by a/an

Options:
1 % thermometer

> o dosimeter
5 % ammeter

4 % anemometer

Question Number : 94 Question Id : 321011344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 321011345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An x-ray film is coated on both the sides with an emulsion of

Options:
, = collagen

- % elastin

o o gelatin



4 w polythene

Question Number : 95 Question Id : 321011345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TFE-T Fer & aar e Sradr oo aftg & s 22

Options:

b o
1 # ©hiclald/ WU

Question Number : 96 Question Id : 321011346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The branch of science which deals with the sound and vibration is known as

Options:

, ® optics

5 « acoustics

genetics

physics

Question Number : 96 Question Id : 321011346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 321011347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Any unwanted sound that interferes with what you want to hear is known as

Options:
1 % vibration

- % reverberation

= o background noise

4 % pollution

Question Number : 97 Question Id : 321011347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 98 Question Id : 321011348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The phenomenon in which the sound continues in the room because of its reflection is known as

Options:
1 « reverberation
- % Vibration

z % echo

, w background noise



Question Number : 98 Question Id : 321011348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 321011349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The study of physical transmission of the speech sounds from the speaker to the listener is known as:
Options:

| « acoustic phonetics.

> % auditory phonetics.

- » articulatory phonetics.

, w linguistic phonetics.

Question Number : 99 Question Id : 321011349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 321011350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The study of reception and perception of speech sounds by the listener is known as:

Options:
, % acoustic phonetics.

-  auditory phonetics.

-  articulatory phonetics.

, = linguistic phonetics.

Question Number : 100 Question Id : 321011350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 101 Question Id : 321011351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the mistier of Health and Family Welfare in government of India?

Options:
, % Sushma Swaraj

> % Nitin Gadkari
z « J. P.Nadda

4 % Uma Bharti

Question Number : 101 Question Id : 321011351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 321011352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote Unhappy India?
Options:

, « LalaLajpat Rai

- » Mulk Raj Anand

= % Subhash Chandra Bose

4 R Bal Gangadhar Tilak

Question Number : 102 Question Id : 321011352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:
1« elell ell=Ha <

5 % djw I HlAg

o gawaam

4 % 6 MR O

Question Number : 103 Question Id : 321011353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What’s the capital of Lakshadweep?

Options:
., » Daman and Diu

o % Minicoy

3 « Kavaratti

, = Puducherry

Question Number : 103 Question Id : 321011353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 321011354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The First Opium War was fought between?
Options:

; + China and the British Empire

- % India and the British Empire

z % China and Vietnam

4 % China and France

Question Number : 104 Question Id : 321011354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 321011355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the state bird of Maharashtra?
Options:

| % House Sparrow

o o Green pigeon

- » Hill Myna

4 % Indian Roller

Question Number : 105 Question Id : 321011355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section Id: 32101111
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 321011356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three of the alternatives follow a certain relation. Find the instrument which does not belong to the group?

Options:
1 % Guitar

- % Violin

5  Conga

4 % Cello

Question Number : 106 Question 1d : 321011356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question 1d : 321011357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Prathik along with his three kids were watching cricket match on television. There was an advertisement for remote
controlled toy car. The phone number flashes on the screen briefly and they all try to remember the 10-digit phone
number. By the time Prathik grabs a pen and paper. each of them recollects a different number

1: All of them agree that the first three numbers are 989.

[

: Three kids agree that the fourth number is 6.

L]

: Three agree that the fifth sixth numbers are 28.

4: Three agree that the seventh eighth numbers are 38; all are agree that the last two digits of 10digt number is also 42.

Which of the numbers is most likely the telephone number of the advertisement?

Options:
| ® 9892863842

>« 9896283842
5 % 9892838426

4 % 9869382842

Question Number : 107 Question Id : 321011357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question 1d : 321011358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During morning walk in a garden. Pointing to Rajesh Padma said “he is the brother of my uncle’s daughter”. Then how
is Rajesh related to Padma?

Options:
1 % Uncle

> « Cousin
= % DBrother

4 % Grand father

Question Number : 108 Question 1d : 321011358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE T A gEE H W H AN, mrﬁrms‘awmgwﬁw, "Tg AL =T FT LT F A
T T WS ¥ ¥ weftg 32

Options:
1 ® ==l

o v TR
3_&55:!-'%
4 % IETS

Question Number : 109 Question Id : 321011359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figures carefully and identify the similar figure among the alternatives, which having analogues
relation to the given set of figures
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Question Number : 109 Question Id : 321011359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question 1d : 321011360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the data given carefully and answer the question
The following Venn diagram shows information about number of officers who speak three different langunages in the
army camp at XYX

Punjabi Bengali

éh

Hindi

How many officers speak only two languages in the camp office.?

Options:
1 ® 32

> « 34
3_&% 36

4 % 38

Question Number : 110 Question Id : 321011360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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=T 39 3@ 37 ¥U=Rar & g & 9 # A9 Erar § S 8 F e Xy X # 89
AIT-HEITT HTOTT Srera 21

"

Hindi
e & %ﬁr HRF Fae g1 AT Sy 87
Options:



Question Number : 111 Question Id : 321011361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the transparent paper is folded at the dotted line what would be the result of the folding.

VA
%o

Options:

Question Number : 111 Question 1d : 321011361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el 9efele, aReelt Hrrer fEder @ W HET g 21 98 Rwew 94, S mad = e ¥ aar §
&F FET S Asa & a9 98 FOr BTEem

AV AN
DOO
Options:
X% |
©
], 0 E
XX |
o
> o 1




Question Number : 112 Question Id : 321011362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the next number in the series.

4, 12,36, 108, ?
Options:
i, * 325

5 & 314

4 % 344

Question Number : 112 Question Id : 321011362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&1 91 Ao F 3yeTelr gEaT #/4T @i

4, 12,:38, 1087
Options:

, % 325
. = 314
2 324

. ® 344

Question Number : 113 Question Id : 321011363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Seven children takes part in a caroms games contest. Each one has to play with every other one. How many games must
they play?



Options:
1. ® 28

Question Number : 113 Question Id : 321011363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T a=9 A FF ARG F 99 7 £ & TF F & g F WY YT g1 398 o Sl Fered
=fgu?

Options:

o 21

Question Number : 114 Question 1d : 321011364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the number pair from the given alternatives which holds the analogous relation as the given.

144 : 13
Options:

;% 169:12
] 324 : 17
= % 289:16
4 22516

Question Number : 114 Question 1d : 321011364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e arv et # @ 38 F&A IoA F1 AT S A T A0 & HgER weed "ed W@ gl

144 : 137
Options:

, ® 169 : 12
o % 324 117
2 % 289 : 16
4 < 225 : 16

Question Number : 115 Question Id : 321011365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If L stands for — . M stands for — N stands for =, P stands for =+,
then what would be the result of the following expression.

‘EN3L18PoM6E’ 7
Options:
1. = 16

o R 18

Question Number : 115 Question 1d : 321011365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I L, + F g Far g, M, - & FRg &tar 8, N, x & @%ha #ar g 3R P, + 1 fawha
FT &, O AT sg= = IRonE FaT gem?

8N3L18P6M6

Options:



4 ¢ 21

Sub-Section Number: 3
Sub-Section Id: 32101112
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 321011366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A number X is short of Y by 20%. Then what percent is Y in excess of X?

Options:
I . 20%0
5 % 50/3%

5 % 12.5%

4 o 25%

Question Number : 116 Question Id : 321011366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEEE X, Y ¥ 20% FH g, ar Y, X ¥ foraar gfaeg 39 &2
Options:

| % 20%

, % 50/3%

z % 12.5%

g W 25%

Question Number : 117 Question Id : 321011367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a?b? + : — 51, then the value of ab — — is:
aZh? ab

Options:

1 6

> o 7



Question Number : 117 Question 1d : 321011367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i 1
3T a’b? + 51, df ab—— &I AT g

aZh? ab

Options:

1 ® 5
> 7
3_%‘3 5

4 % 8

Question Number : 118 Question 1d : 321011368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sides of two similar triangles are in the ratio 9 : 16. Then the areas of these triangles are in the ratio.

Options:
| ® 256:81

s o 81:256

4 % 9:16

Question Number : 118 Question Id : 321011368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar FFEET TARyEr ST 9 1 16 F AU H g1 57 IS F AFFHAl HT NI FAT gem?

Options:

| % 256 : 81

2@334

2 o 81 : 256



L% 9:16

Question Number : 119 Question Id : 321011369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The area of a rectangular field is 144 m? . If the length had been 6 m more, and the area has also been 54 m? more. then
the original length of the field is:

Options:
1 % 12m

o 1&8m
= % 14m

4 o 16m

Question Number : 119 Question Id : 321011369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U HIATER B F1 & 144 m? g1 TS gHer warg 6 Hex Hfaw g ar awer off 54 m? HOw
2 ST, & A B T W E

Options:

Question Number : 120 Question Id : 321011370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two right circular cylinders of equal volumes have their heights in the ratio 1 : 2. Then the ratio of radii is:

Options:
1. ® b ol |
o W &2

4_&3]:4



Question Number : 120 Question 1d : 321011370 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT arel & Fagecid fHoisd @ F=18 & Had 1 : 2 g1 ar 30 et &7 39T &

Options:

1«:-321

Question Number : 121 Question 1d : 321011371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The perimeters of two squares are 48 cm and 36 cm. Then the perimeter of a third square whose area is equal to the
difference of the areas of the two squares is given by:

Options:
{1 ® 1l6cm

o> % 24cm

o of 121,!’7 cim

4 ® 28cm

Question Number : 121 Question 1d : 321011371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I gr 91 & IIHET 48 cm 3T 36 cm §, aF TF G 9 FT oA"Y A9 fiew, TEer d5w g4t
eIt & STFAT F HA F ST g

Options:

; # 16 cm

- % 24 cm
s« 124/7em

4 % 28 cm



Question Number : 122 Question Id : 321011372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A right pyramid 10 cm high has a square base of which the diagonal is 10 cm. The whole surface area is:

Options:
1 & 220 cm?

> & 210 cm?
2 ® 205 cm?

4 « 200 cm?

Question Number : 122 Question Id : 321011372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

10 ¥ 5= vs @Eeviy Bufis & smr s=er g Swer Teer 10 @ 31 a0 T aawd
CAEI

Options:

1w 220 cm?
> % 210 cm?

= # 205 cm?

4 200 cm?

Question Number : 123 Question Id : 321011373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
£ (1+smn 6)1—smn &)
(1+cos8)(1—cos®)

If cot® =g . then the value o 1s equal to

Options:

20

10

25
3¢ 36



15
g4 = 18

Question Number : 123 Question Id : 321011373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 (1+5in 8)(1—sinf
3R cotf = 2, ar 2 X )
& (1+cosd)({1—cosd)

T AT &% TR ¢
Options:
20

10

25

15
4 ® 18

Question Number : 124 Question Id : 321011374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The angles of elevation of the top of a tower from two points at a distance 4 m and 16 m from the base of the tower and
in the same straight line with it are complementary. Then the height of the tower is:

Options:
1, *® 6m

o &m
= % 12m

4 ® Om

Question Number : 124 Question Id : 321011374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U T F HUR H 4 m AR 16 m & g 9T 58F @y Wl Wom # Fud o Bgnt § gfaw & 99 F
3eA0 HIUT Th AL & YT @l af T $ F419 g

Options:

1 % Bm
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Question Number : 125 Question Id : 321011375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Histogram can be used directly for:

Options:
, % secondary data

- « continuous data
3 % discrete data

, = primary data

Question Number : 125 Question Id : 321011375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T=rETH 1 39ger d9Y ¥ fore &Fam = @ B

Options:

| % SiSdraes ST
> v Fdd SET
3 ® HIAdd STaT

4 ® STUTHF sTer



